MAT 222, Exam #1, Sum

Instructions: You may u
3x5 index card, which yc
center. It's important tc
around your final answe

mer 2017 Name

se a protractor, compass, ruler and calculatdr for this exam. You may also use a
u will turn in with the exam along with any scrap paper provided by the testing
» show all work, and explain your reasoning. It is helpful to put a box or circle

r after calculations. Give exact answers unI%ss specifically asked to round.

1. Determine if each statement is True or False. If you mark faiSe explain why the statement is
false, or rewrite|the statement as a true one. In the figure, a‘ssume lines AG and DI are parallel.
(1 point each) | .
a. T (D The points A4, H and D are collinear, //
Cih, D arty .
A B
b. @ F Another name for the line 4B is GB* / \
\

e @ F Angles 2CHG and angle 2BGE are R B // \ .

supplementary. ‘ g H

S
d. {T ) - £FHC and £DHE are vertical angles. ;/
e. T C) £IGB and £IGE are adjacent angles‘f.1 CIG‘& A ﬂ‘B BE aac
|
f. T Q) If GH and HT have the same length, ‘then £IHG and £HGI are
t.

congruen éﬂé—r ﬂ CGI& €
g. @ If GB bisects angle ZIGE, then md?ﬁ and m£BGE are equal.
h. T GD p — q is logically equivalent to g — in aﬁ. o ~ % - ~e

@ If g & ~p, then ~q & p. |
I

j. “f msFHD = meHGB, and meHG = MLAGE, thenmsFHD =

MLAGE” is an example of the transi ive property.

2. Look for a pattern (or two) to determine the next term or eIer#ent in the sequence. (3 points each)
a. 2,6,18,54,.. [ 'Z_I ]
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If we determine
parallel, and pla
planes HGF and
conclude that th
rectangular box

that planes ADH and BFG are

nes ABF and DHC are parallel, and | E
ADC are parallel, is that enough to A B
e figure drawn on the rightis a } !
(i.e. all its surfaces are ﬁ : =
rectangles)? Why or why not? Explain. (4 points) D R S
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(2 points each)
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iagram as in #4, if 26 has measure 56°, find

o+ W A 7 a ‘
/
e rliht to state two angles that are:
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Jhe measure of £9. (3 points)




6. Using the diagram at the right,

i 4 3
a. write an algebraic expression for the length of i * ”””” e R
GH, and for the length of JK. (4 points) [P -
. et ol
GH’ =)<-"'3 {4} | I — e
(r H ! I
Jk= 3-3
b. If GK = 30, find the lengths of each segment GH, HJ, and JK. (4 points)
30%F XtF+x+ 245 a
w A
S8 = 5K '
X=6 Is 5
7. Find the measure of each angle. (4 points each) ‘ B _;"' 3—j:f. -
a. 2ABC _‘ r
ZAh+F=HX ,,f—'-i%-u’,"
Alo.D+7=28 2i1=&%|| b
b. £EBC z ‘
E
f

I8 r 23 = I157°

8. Aflower has 6 petals. How far apart in degrees are the
centers of each petal if the petals are evenly spaced?
(5 points)
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9. Use the graph shown to answer the following questions. wl? D
a. Find the length of side AD. (4 points) a A( 2.8)
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c. Whatisthe

3

d. Whatisthe

(‘3_'_*%& 1o+%> - (e

e. Whatisthe

m =

]

v 4+ 2d50 TJ29

midpoint of side AD? (4 points)
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2. Z-

slope of the line CD? (5 points)
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10. Find the perpendicular bisector of the line shown below. (7 pﬁints)
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11. Write the contrapositive of the statement “If the Sun is a sta

Ifdﬁkmdoa—tﬁﬂﬁ‘/"-d’( }‘

12. What conclusion

can you draw from the following pairs of st

All national parks are interesting.
Mammoth Cavelis a national park.

Mmmof%@u{hw-

What law of ded

13. Given: £CDE an
Complete the ta

reasons. (10 points)

S, bogc oin

o

d 2EDF are supplementary.
ble below. Fill in the missing

uctive reasoning does your conclusion illustr
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r, then it’s not a planet.” (5 points)

MAof & Skxa

atements? (7 points)

te?
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Statements

Reasons

x° +

msCDE + msEDF = 180° ﬁywqg W/Zﬁ( CP’ SYpp Z«j&a

X +20° = 180° Si

(3x + 20)° = 180° &J‘@%HW /éwm Q: Lg i

4x° = 160° Mﬁﬁoﬁmm ?}(Wﬁ
x° =4(0° ,{ z;ih ) Jx % l JZ/’@
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14. Use the diagrarr to the right to determine the measures of the missing angles in AGHI. You may
assume that 4B and CI are parallel. Write your reasoning out in the form of a proof. (12 points)
\ o/
= | d
Hint: Two facts that you|may find \\\ i
useful: oy %
1) The interior angles of
quadrilaterals add to 360°.
2) The interior angles of
triangles add to [180°.
Statement Reasons
AB|CI | Given
msFDL = 50° |
msIHG = 30° \ Given by diagram
msDLG = 90° |
msIHG + msGHK = 180°
MLGLA - $aGhD = 180° Definition of supplementary angles
mesHKL + msCKL = 180° = upp Y A8
MLFDL 2 ms TKD i indaror angles
2°+ ml&HK = 1%0° | 0
mc&u_{_qn:'%e - wﬂ'\m
§0°+ mdlCKLT 150°~" |
- jeno .Lm L GLE=3%; m k] ,ta;Su%adIén pvep. J\
MLGLK + mdl Kt | L= 3bb° %nﬁhlaﬁ.mﬁﬂwn aﬂpae,
D°+ [30°+ |00+ wmittGLe 360°
T4+ miHGL Su losh_m\
\
mZH&L: Foo @M@%
\
‘i
AP + m<L 64 = Bo® M%m
meTerz [10° WW pop gy 95
MLTeH + MGHTA mLHT = 10° | A "%;ﬂ' E: Ei a h!,g ,
HO® + 207 +mdHLG= 190
mZHTE =40° Suﬁo*mm PP 4 04




15. What must be th

e value of x if the two lines £and » are par
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16. Write the equati
(3,8). (6 points)

on of the line perpendicular to the line y =

m= =3

-3 (x~3)

17. Find the angle bi
below. Leave all
your points. (7 p

18. Use your protrag
of £Q. (4 points)
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sector of the angle shown
markings and arcs, and label
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tor to estimate the measure
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allel? (6 points)

-x — 2, passing through the point
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